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UDB for iSeries with programming. 
D. ODBC drivers and additional middleware communications layers are unnecessary 
since the application code runs on the Domino server. 

Answer: D 

QUESTION: 93 
What is the approximate bandwidth required for a typical IBM Lotus Notes client 
attached to an IBM Lotus Domino server using mail and calendar? 

A. 1-5 Kbps 
B.  5-10 Kbps 
C.   56-128 Kbps 
D. 256 Kbps minimum 

Answer: B 

QUESTION: 94 
A customer has one IBM Lotus Domino server configured in their domain. They are 
configuring a second Domino partition in their domain.  Which of the following 
describes the relationship between the cert.id and the second Domino server partition? 

A. A copy of the cert.id must be in the second server's data directory. 
B.   The cert.id is stored in the QIBM/USERDATA/LOTUS data directory in the IFS and
a link created to each Domino server partition. 
C. The cert.id is created during configuration of the first server and is used to register the 
second server in the Domino Directory. 
D. A new cert.id is created when the second Domino server partition is created and 
registered by the CA Process in the Domino directory. 

Answer: C 

QUESTION: 95 

A customer has been using IBM Lotus Domino mail servers on Windows for three years.  

They are planning a migration to Domino for iSeries. Which of the following 

information is required to appropriately size a Domino for iSeries solution? 


A. Total number of Domino applications being used 
B. Average MHz and total disk space on users' workstations 
C.   Number of concurrent users and the sizes of user mail files 
D. Free disk space on each of the existing Windows based servers 
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Answer: C 

QUESTION: 96 
From an IBM Software Group perspective, which of the following describes the focus of 
the IBM Lotus brand portfolio? 

A.   Relational Databases 
B.   Transaction Processing 
C.   Integrated Enterprise Management 
D. E-Learning and Advanced Collaboration 

Answer: D 

QUESTION: 97 
An IBM Lotus Domino administrator needs to modify an existing TCP/IP configuration 
on an iSeries. Which of the following describes the minimum OS/400 Special 
Authorities required to make the changes? 

A.   *ALLOBJ, *JOBCTL 
B.   *ALLOBJ, *IOSYSCFG 
C. *ALLOBJ, *IOSYSCFG, *JOBCTL 
D. *ALLOBJ, *IOSYSCFG, *SECADM 

Answer: D 

QUESTION: 98 
What is the correct sequence to follow when enabling the Single Sign On (SSO) between 
IBM Lotus Domino 6 and the WebSphere Application Server? 

A. Configure in any sequence 
B.   Configure SSO for WebSphere, then SSO for Domino 
C. Configure SSO for Domino, then SSO for WebSphere 
D. Configure SSO for Domino, then SSO for the HTTP server powered by Apache 

Answer: B 
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